Public WH Design (Problem 24)
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(b, cont)

L(D)=

v 7|

2

H-1
2

636,000+ 4800H(

DH

D-1 H-1)]
_|_
) j 4800( , j _

j’

18

z

18
42 /12

DH

. \/A(ZM—N)
- 2NyH

|

7(2(636,000) - 4800)

2(4800)?3(5)

J = [—J =5 (building clear-height constraint)

1
4+ — | =
ZJ

1
+_
2




Public WH Design (Problem 24)

(b, cont)
= L =20,503=TA4=1,925,573=TA ' =2,214,409 =
= IVypiag = $15.50T4" =$15.50(2,214,409) = $34,323,346
= Kgjr =0.051V) 14, = $1,716,167 =

Ky
ACss10t-yr = M$/y =$2.70 per slot-yr

slot
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(a,cont)
TA'=2,214,409 ft* =
dsc =2\TA' =+24/2,214,409 =2,104 =

Z‘min/movzdi‘F2 3_5 =4.58
616 60

H'=2(8)5(50) =4000 hr/yr (already using H)
Smoviyr 195 2,000,000

!

Fpeak =1.25 = 625 mov/hr

my =| Fate +1] = | Fpeatthmoy +1] = L625% + 1J =48 tr

v =1vy—SV (1+i) " =35,000—0.25(35,000)(1+0.05) "
= $29,628
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(a,cont)

Kuye =1V —|=29,628 0.05 | =$3,837
1—(1+i) 1—(1+0.05)"

vy = 15.00H" = $60,000

TCyiyr = My Ksipar + (1 +12) by +2.75(2,000,000) tmig/gov

=48(3,837)+ (48 + 12) 60,000+ 2.75(2,000,000) %

=$4,204,286.27 =

TCsy:  4,204,286.27
fmov/yr Z,OOO,OOO

ACs/mov = =$2.10 per move
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(c) What are other costs that should be added to each charge
to better reflect the true costs of each activity?

— most significant missing costs are the facility non-move-related
operating costs, which should be added to the slot-year charge

What about average unit cost of $46.75?

— only possible impact of unit cost would be for any insurance coverage
provided by the warehouse for items stored in the warehouse

Note: Number of slots of max inventory, M, used to determine
ACqqo1.y, INstead of the total slots in warehouse since unused
HCL slots would underestimate cost:

Total Slots =LxDx H =717,605
M =636,000
HCL =81,605



	Public WH Design (Problem 24)
	Public WH Design (Problem 24)
	Public WH Design (Problem 24)
	Public WH Design (Problem 24)
	Public WH Design (Problem 24)
	Public WH Design (Problem 24)

